G3-M2-Lesson 7

1. Match each object with its approximate weight.

=& 100 grams

| know that the tack is the \\

lightest object, so it must weigh
about 1 gram. 1 also know that
the hooks are the heaviest, so
they must weigh about 1
kilogram. 1 know that the key is
lighter than the banana, so the
key must weigh about 10 grams
and the banana must weigh

\\about 160 grams. /

@ 10 grams
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B 1 gram

1 kilogram

2. lessica weighs her dog on a digital scale. She writes 8, but she forgets to record the unit. Which unit of
measuremeant is correct, grams or kilograms? How do you know?

The weight of Jessice’s dog needs to be recorded as 8 kilogroms. Kilograms is the correct unit becouse
8 groms is about the same weight as 8 poperclips. It wouldn’t make sense for her dog to weigh about
the same a3 B paperclips.

3. Read and write the weight below. Write the word kilogram or.gram with the measurement.

i know the unit is grams because there is
a letter g on the scale. | can use the
image to the right of the scale to
determine that each tick mark between
140 grams and 150 grams represents 1
gram. The fruit weighs 146 grams.

146 grams
EURE“ Lesson 7: Develop estimation strategies by reasohing about the weight 11
MATH" in Kilograms of a series of familiar objects to.establish mental benchmark measures,
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